™
- ing rivers is NOT @ '3 7
3 Which on¢é of the followmg.1'1veﬁjsa1ssi rI:I? 4 e 1 %qu 8 5 b
1. thglgart of Indian Ganga rlve'r & ol 0 .:Eim:rﬁ
i (b) Ajoyriver 2 LRk |
(a) Punpunl 1.‘1ver . 5 .
(c) Jalangi 11ver (d) Jonk river . ) m;gg{'“' fi o =
9. What is the theme of World Youth Skills b e CaNN feed ferd
" Day, 2021 7? | ! o
People and Skills (@) fjget W, ]
o Siills lopment and ) s >
' b F2firh

(b) Skills Deve

Employment o )i
Young People and Entrepreneul p (c .
(c) Young Youth Skills Post ) ﬁ—s-a‘;[ﬁ’l'[ q feped qree

.(d) Reimagining

PandemiC ﬁﬁzﬁq—mﬁ'ﬂmgﬁ@mqﬂ

3. Which one of the following pairs is NOT 3. o ISICE e ( )
correctly matched ? ('{:9”:“5'

(Name of local (Places) 5T ATH) -
winds . ' (@) Ll - 5
(@) Leveche  —  SPan (b) BAfEest  ~ s fer
(b) Brickfielder - Australia 3o emfER
(c) Black roller - North America Je2) Y TR ~ e
(d) Shamal —  Austria (d) T ' ]

4. Which of the following Constitution 4, frefafaa T3 aﬁj—!—m gfaum Ef{i'uq arferf
Amendment Acts made necessary Sh.ug. & wd agr ) ﬁ?ﬂﬁ * HI<
provisions for the implementation of GST o e
(Goods and Service Tax) regime ? & foe W RIERIEECASL q7
(a) 1015t Amendment Act (a) 101 AT @EFT arfufaa
(b) 1027 Amendment Act (b) 102 aF FMET arfufaa
(c) 1037 Amendment Act 2y 103 af g srffem
(d) 104th Amendment Act (d) 104 a Gega srfafEm

5. Which one of the following cavees fs | 5. Pl 73 A LIRS el

. in north-western part of India ? w3 ¥ g H B Al Tt 3 for Iwegrf @ 7
* () Retreating Monsoon (a) ATET H IHT
((b)) snyclonic depression (EEEIGIRECEHE|
¢) Western disturbances gfgedt
(d) South-West Monsoon Wi foreny
L (d) <féror-afeem aMga
6. Icriv?lfkggt}year P.C. Hota Committee on 6. ffae Yareti i
5 Ivices Reforms was constituted ? . gur =g 1. 451. BreT gftfd 1713
(a) 2003 (b) 2004 ¢ f3pa e o ?
200 B & VA»“ 2 ’ 3
() 20058 . (d) 2006 (a) 2003 (b) 2004
(c) 2005 (d) 2006

7. As per the:"' nsus
~ which one of th 65’%2(.)1 1 estimates, 7 :
Fc;p};fus T Jgyioe is the most | ;.“a"' ﬂq""“’ i? é; & STATT % TgER ¥ra A, A
; a) Bihar A & qafferen T
(c) Maharashtra ) U -@Y%P;ad}TSh (a) forem “(b) TEg g %
R, _—— T €S
B L T yd) R
Vi -2
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8. In February 2021, Ngozi Okonjo Iweala
was appointed as the first woman Director
General of World Trade Organisation.
She belongs to which of the following
countries ?

(a) Nigeria
(c) Kenya

(b) South Africa
(d) Ethiopia

9. Flyash pollution is caused by
(a) Oil refining
(b) Fertilizer industry
(c) Thermal power plant
(d) Mining
10. Which of the following countries is NOT

located on the bank of the Black Sea ?
(a) Syria (b) Turkey
(c) Georgia (d) Bulgaria

11. Consider the facts given below :

1. Suku_mar Sen was the first Chief
Election Commissioner of India.

2. Rama Devi was the first woman
Chief Election Commissioner of
India.

Choose the correct answer from the

codes given below.

Codes :

(a) Only 1 is correct

(b) Only 2 is correct

(c) Both 1 and 2 are correct

(d) Both 1 and 2 are incorrect

According to ‘Global Peace Index, 2021°,
which of the following is the most
peaceful region in the world ?

(a) Africa (b) Europe
(c) Australia (d) South America

12.

13. Which of the following pair is NOT

correctly matched ?

(Place) (Tribe)
(a) Alaska — Koryak
(b) Borneo - Punan
(c) Arab Desert — Ruwala
(d) Sweden and Finland — Lapps

14. The concept of ‘carbon credit’ originated
from

(a) Earth Summit, Rio-de-Janeiro

(b) Kyoto protocol

(c) Montreal protocol

(d) G - 8 Summit, Heiligendam
B

SMRN-1 - 21

8. wEh 2021 A Trsh 3l 3 i fava AR
e §f wem wfen wEtRYS F w9 4 FEE
gmfgwmn% | g ufgen fr=fafaa & & fea T

?
(a) ATSSHTET
(c) =i

9. TSN GHUI BIe

(@) ot TMeA |

(b) etk 3T H

\c] a9 ferea w97 ¥ ;
(d) @ |

Frfefad § @ HH-91 3 HAT W H T T
fRaadis?

(b) Gf&roT SThTRT
&) g

10.

(b) i

KO Tt

= fo T el W e AN

1. YA 36 vor e e aTged G e & |

0. R I el Higen qea fatem g o
<t ot |

9 f T e @ T@ IW IAT |

He:

(@) et 1 T B

(b) e 2 TR 3

U 132 i T §
(d) 1 3R 2 <1 T ©

12. “AfFe wifd gueis, 2021 % gER ffafEa
¥ § fava w1 =@ wifogt &5 wR-w 8 ?

1.

(a) 3THIT (b) FT
N LR (d) <faor amfEm
13. fra @ -1 gm o gafea =& & ?
(Fa=) (S=ia)
(a) TR - I
(b) SfFan. -
(c) IR TTEASA - JETAl

-3-



15. Who among the following was the

16.

17.

18.

19.

20.

Chairman of the First Finance
Commission of India ?

(@) Shri. Santhanam

(b) Shri. K. C. Neogy

(c) Dr. Raj Mannar

(d) Shri. A. K. Chanda

With reference to Mekong river, which of the
following statement/s is/are correct ?

1. Mekong rises in Tibetan Plateau

2. Mekong delta is situated in
Southern Cambodia.

Select the correct answer using the codes
given below.

Codes :

(@) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

Which one of the following pairs is NOT
correctly matched ?

(a) Vitamin-A - Orange

(b) Vitamin-C - Lemon

(c) Vitamin-D - Cod liver oil
(d) Vitamin-Bg - Rice bran

Which of the following vitamins is
essential for normal vision ?

(a) Folic acid (b) Riboflavin
(c) Niacin (d) Retinol

As per SDG India Index and Dashboard
2020-21 published by the NITI Aayog,
which one of the following States was
NOT among the top five States in their
performance regarding SDGs in the
country ?

(a) Gujarat

(b) Andhra Pradesh

(c) Goa

(d) Tamil Nadu

In which of the following years, the
Environment (Protection) Act passed by
the Government of India ?

(a) 1982 (b) 1986
(c) 1990 (d) 1992

15.

16.

17.

18.

19.

SMRN-1 -

P 3 @ A AT % S T

FoT ge 2/ !
1. for o 3 foeea 3 O H 2 |

1. fireprm o1 e afeq EteAr e R |

<R fa g 2 & et ST T

e

(a) e 1

(b) I 2

2 1 32 q

(d)Tdar 182

frefifad § ¥ $H-91 T9 T8 AR T @ 7
W) ferfi-A — |

(b) Rrerfim-C - g

(c) fae@-D — TS B! H A
(d) faerfr-Bg — T 1 S

T gfee % fore frafefaa § @ wH-1 faerf
YT BT 8 7

(b) TgEIFRAfeH
(c) Franfm ] eta

(a) BT 3TA

Hifa I gro yefye g . ESft. sfear sew
e SYEIE 2020-21 F @R fr=ferfga & €
F-91 T¥ €S, TR 39y Yeuid ¥
3w % o oiw owt o el i ¢

(a) TS

W) Y T

(c) TaT

(d) aftrerTg

20. FmafaRaa o & forg ad & sy TR gro wafe @

(afregor) arferfrm aifta fopam o 2

(a) 1982 \(5) 1986
(c) 1990 (d) 1992
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which of the following is NOT correctly

21. T atched
Institute Location
@ International Centre = Nairobi
for Research on
Agro-Forestry
(b) Indian Institute of — Bhopal

Forest Management

(©) Central Agro-Forestry - Banda
Research Institute

d) Tata Energy Research — New Delhi
Institute

which of the following State has the
Jowest density of population as per the
Census of 2011

(a) Himachal Pradesh

(b) Arunachal Pradesh

(c) West Bengal

(d) Mizoram

22.

Botulism is
(a) Food-borne infection

(b) Food-borne intoxication

23.

(c) Water-borne infection
(d) Water-borne intoxication

Under the Constitution of India which

of the following is NOT a Fundamental

Duty ?

(a) To vote in General Election

(b) To develop the scientific temper

(c) To safeguard public property

(d) To abide by the Constitution and
respect its ideas

24,

With reference to the electric potential,
which of the following statements is/are
correct ? '

1. It is a scalar quantity.

2. It is a vector quantity.

Select the correct answer using the codes
given below. . ‘
Codes :

(a) Only 1

25,

(b) Only 2

e arateafa
(a)axr—crdt@ﬂm—mﬁzﬁ — A
SFEIH %
(b) Wt & e HEA — AaTA
(C)Wm—a’rﬁﬁ — |1l
ST I
) T A FETEE T — 3 feeeht
22. 2011éhwm%aagmﬁﬁamwa:ra@r
Yeg gad A U1 7
(a) Towm=t TE
.(B)mmmam
(c)q%"ﬁii'fﬂa
«(d) P
3. wIgfred B

(a) re-vere ¥ B ST FhHT
Msﬂw—mﬁaaﬁmﬁﬁw
(c) ST~ FShAT
(d) S-St ferdem
24, mﬁﬁadﬁuﬁ%mﬁqﬁﬁiﬁﬁ@ﬁq—m
I EC T e
Wa) 3T gAE | HaeH
(b) e g <A st 1 o
(c) TSI Fwiel <l et
(d)éﬁmwwwmmasﬁww
25. ﬁgaﬁm%daﬁﬁﬁm%ﬁaawﬁﬁﬁ
H-T1/3 TR B/2 ?

1. 98 T 3tfew TR & |
0. I8 T |iew URT B |

H R e e @ T W H =TI HINT |
H:

(a) heret \b) et 2

(c) Both 1 and 2 (d) Neither 1 nor 2

(c) 13 2 gl dA@M1IIA2

-5-




28.

29.

" jabelled as

E ke ouncl
.. lhis CXC itive €
]_lt{- ' )’ 01' ‘dcpal‘lmcnt

Cunet ?
functlonmg

SU i :
system foF OO cil Act, 1861
ane Act, 1858

Act, 1892
1909

Govern n .
c) [ndian Counc!l 4
(d) Indian Council Act,
ments, one is

y are two state
nd other as

below v
' Assertion (A) a

Givel
Reason (R) -

Assertion (A) : Human body §ynthesises

all the vitamins required by 1t-
Reason (R) * Vitamins are essential for
proper growth of thé body.
Select the correct answer using the codes
given below.
Codes : |
(a) Both (A) and (R) are true and (R) is
correct explanation of (A)
) Both (A) and (R) are true, but (R) is
not correct explanation of (
true, but (R) is false

(©) (A) is
false, but (R) is true

d) (A) is

Parliament

meeting of both houses of
first

at the commencements of the

session after each general election of

the house of the
commencement o
of each year. ,
2. The President in his address informs
the Parliament of the causes O its

People and at the
the first session

summons.
Select the correct answer using the codes
given below. .
Codes :
(@) 1 only
(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2

Which one of the following reflects back
3222 ;unhght as compared to other

(@) Sand Desert
((b)) l;addy crop land
c) Land covered with fresh
(d) Prairie land T

27.

E(A)@T(R)ﬁa‘aﬁéaﬁt(m, (A) F =
(b) (A) 3 (R)?ﬁﬁﬂ'&ﬁ%, g (R), (A) F
Hﬁw@qﬁfm%
(c) (A)W%,ﬁ:@(mm%
wid) (A)vaﬁ%,m(ma—a%
28, W % ¥ fdty SrfyTeor A
h“‘“*ﬁﬁﬁﬁ—m/ﬁmaﬁ%rg :

RN | TEG

2 gaiE w2 |
2.u@ﬁmaﬁmwﬁﬁaaﬁ3a%m

X it 3 frye § gfea @8 |
aﬁmmw,:ﬁ%ﬁ&@%aﬁmf
HRA |

%e :
(a) a1 (b) Fee 2
Q) 17 2 gt (@ Fd 182

29. frfrRaa § @ F1 3= @1 B ger § S
o i A wEfda w R 7
Xa) 3@ &1 e
(b) & <t Tl R o
¢ T T Qg S
(d) Sardt iy (FrEfiars)

-6-




31.

32

33.

34.

%%Whid‘ one of the following is NOT

‘Blue baby syndrome’ is due to the

correctly matched ?
(Subject) (Related
Articles)
a) The separation of — Article 50
judiciary frm.n exccutive
(b) The promotion of — Article 46
educational and

economic interests
of Scheduled Castes
and Scheduled Tribes
(c) The promotion of
Co-operative Socicties
d) The organisation of
Village Panchayats
and enable them to
function as the units
of self government

— Article 43A

— Article 40

Which of the following Ramsar site is
NOT situated in Uttar Pradesh ?

(a) Sur Sarovar

(b) Samaspur Bird Sanctuary

(c) Sansai Nawar Jheel

(d) Surinsar-Mansar Lakes

Uttar Pradesh Government declared in
budget 2021-22 to provide tablet for
student under which of the following
Yojna?

(a) Chief Minister Abhyudaya Yojna
(b) Chief Minister Rozgar Yojna

(c) Chief Minister Balseva Yojna

(d) Chief Minister Education Yojna

The National Disaster Management
Division in India is the nodal division
in the Ministry of Home Affairs for
disaster management. Who is the
Ex-officio Chairman of the National
Disaster Management Authority ?
(a) The Prime Minister

(b) The Home Minister

(c) The Defence Minister

(d) The Health and Family Welfaré Minister

presence of which of the following in the
blood ?

(a) Haemoglobin
(c) Lead

(b) Methemoglobin
(d) Nitrate

Qefores aen R
fit h srhrfa

(c) TR AraTEie
gadA

(d) TTH ST <Rt T3
iR 3% I A H
=H1Ea! % &9 HE
A AT

31. W@aﬁ@ﬁ—mmmmmﬁf&a
E R

- AT 43A
- A= 40

(c) TR ,
) GRE-AFE Fe

32. I T & SO 2021-22 I fFg A+
st RrRiE o e A A A R TR E 7
*p) GETEh S AT
(b) eI ASAIR AT
(c)g@aﬁiﬁmaﬁma’mm
& T e A

33. Wi & e eER % R T STIa W
fsdfiom g wTer H T ewt TedeH @ | T
3TTIET T TR0 1 T T A @ ?

(@) TETE
o) e
(c) TEmEht
(d) TTeA TE IRER e Wl
34. T § Frefafaa § ¥ fradh ufeafa & &I
o et g’ B ® 7
(a) ErTeH (b) BEMAH
(c) 8 vtd) TEeE




38.

39.

%

e Thc book ‘Fawaid ul Fawad’ is the
record of }hc conversations of Shaikh
1Zamuddin Auliya, it was compiled by

(@) Amir Hassan Sizzi
(b) Amir Khusro

(¢) Ziauddin Barnj
(d) Hasan Nizami

Y]
(@)

Largest saline water lake in India is
(@) Chilka (b) Sambhar
(c) Lonar (d) Wullar

- With reference to the ‘Capital formation’
which of the statements is /are correct ?
1. Process of capital formation depends
on savings and effectiveness of
financial institutions.
2. Investment is the essential factor of
capital formation.
Select the correct answer using the codes
given below.
Codes :
(a) Only 1
(c) Both 1 and 2

(9}
~I

(b) Only 2
(d) Neither 1 nor 2

According to the Union Budget 2021 — 22,
Finance Minister proposed a new
levy Agriculture Infrastructure and
Development Cess. This cess will be
levied on how many products ?

(a) 12 (b) 20
(c) 25 (d) 29

Given below are two statements, one is
labelled as Assertion (A) and other as
Reason (R) : :
Assertion (A) : The Council of Ministers
in India is collectively responsible to both
Lok Sabha and Rajya Sabha.

Reason (R) : Members of both Lok Sabha

and Rajya Sabha are eligible to become

Ministers in Union Government.

Select the correct answer using the codes

given below.

Codes :

(2) Both (A) and (R) are true and (R) is
correct explanation of (A)

(b) Both (A) and (R{ are true, but (R) is
not correct explanation of (A)

(c) (A) is true, but (R) is false

(d) (A) is false, but (R) is true

SMRN-1 - 2,

35 ﬁmgmﬁm%,mWMa

36. wrwad # @R e h TEd 92 3 2
(a) Fresnt vb)
(c) TR (d) gewIR
37. PR Pt & wd d FH-T/8 Fg -
3/8 7 :
1. Joft Fomfor <t sifsan st SR fofta
TEralt < wwriear W R F 2
2. TRw Fft Fmior & fore ook s1far & 2
9 Ry T e & T IR A I

% ‘
(b) Fae 2

(a)aﬁ?f
Jg 132 @ Id1Tde

38. @l a1C 2021 — 22 F INFER fow et 3 57
ST TG o 49 & W @ T T4 = g
foran € | o1 = R Ieamel W S 7

(a) 12 Wi 20

(c) 25 (d) 29

A 3 e e T 8, R & e i arfver (4

3 TR I FR (R) FgT 70 R

W(A):Wﬁﬁsﬁqﬂwmm?

TFET FAT TN G % WY IeRerft 2 |

R (R) : SAHa 3R Tea| QA1 & wee

TefT TR & ot o Y e @R §

A2 fow e e @ 7 s W == A |

%he:

ve) (A) 31 (R) 31 e # ok (R), (A) B 7
STEAT T R

(b) (A) 3R (R) 3 & &, frg (R), (&) F
et ST T8 T 8

(c) (A) ¥ R, FFg (R) ora 2

(d) (A) e R, Fhg (R) we R

39.



L3
ﬁ“cmﬂ you show me one free country
40. there are scparate electorates ?

ere 7 . 3
WhTh ¢ British element is gone, but they

left mischief behind”.

among the following said thc above
% entioned statement in the Constituent

Assembly debates ?

a) gomnath Lahiri

b) Jawaharlal Nehru

(c) gardar Vallabh Bhai Patel

d N. G. Ranga

have

aorld Ozone Day’ is celebrated on
(@ o5th December (b) 215t April
() 16™ September (d) 30! January

41.

Tapa cloth is obtained from the plants
of which one of the following family ?

() Asclepiadaceae (b) Moraceae
(d) Malvaceae

42.

() Graminae

43. Match List — I with List — II and select
the correct answer using the codes given
below the lists.

List - I
(Mineral
Exploration
Agencies)

A. Oil and Natural
Gas Commission

B. Mineral 2.
Exploration
Corporation Ltd.

C. National Mineral 3.
Development
Corporation

D. National 4.
Aluminium
Company Limited

Codes :

A B C
(@4 2
b1 2

3
3

List - II
(Headquarters)

Bhubaneswar

—

Hyderabad

Nagpur

New Delhi

()4
(d) 2

AN P W
HH(DHU

40.

41.

42.

43.

SMRN-1 - 21

'Wm@@ﬁmmmm%m”
e CCRIEKIC R o
Wﬁawmmaﬁaﬁm
w1 % @gq H He Ul ?

Jet) By e

(b) TS TEE

(c) TR TgH W T

(d) TS Tm

(a) 25 REm H (D) 21 e I

(e) 16 Rem &1 (d) 30 I

s # @ frg g & N J A1 HIET

ST ST 8 7 o)

a Qiﬁ)ﬁmq@ﬂl

((c;wﬁ (d) Hreadt

@-Iﬁzgﬁ—n%gﬁ%ﬁmwﬁﬁﬁ

¥ 43 feg o e & W S R

S gt -1 gt - 11
(@ st (gEaTea)
arferenvoT)

A. ¥ @ WIpfas 9 1. YEAT
A

B. @fs s fm 2. TG
fafies

C. Ty @i T 3. AR
o

D. T Tgfaw 4, 7§ faett
Frot fafies

F
A B CD

@4 2 3 1

M1 2 4 3

4 3 2 1

W2 3 4 1
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44. With reference to the G-7 Summit hPld e Gﬁﬁzt:{)%f@a 3 a T=F’5F{"Fn/a o Tl %/% [ ¢
in June 2021, which of the following A fen 30 i@t FEEH
statements is/are correct ? ; 1% 1{-113%3 '
1. United Kingdom was the Chair o ey o1 J )
\theSummit. _ zmﬁmm%wﬁmmﬂ
2. Brazil was invited to the Summit as 3 gmifra foan T ot |
a guest country. 3 7 IR IAT |
S_elect thle correct answer using the codes fi= few T %K<
given below. .
Codes : ) e 1 (b) a 2
(a) Only 1 (b) Only 2 (@ odd (@ AM1ITE2
(c) Both 1 and 2 (d) Neither 1 nor 2 ue) 1 i
. . 45. Freffea § & FH-a1 T T A I & ¢
45. Which one of the following is NOT . (=)
correctly matched ? (yTEh)
(Ruler) (State) . afic - AaTE
(a) Rana Hamir — Mewar (a) T B
(b) Rana Chunda — Marwar (b) ToT FUET
(c) Malik Raja Farooqi — Khandesh W"’P@ T BT - @MY
(d) Malik Sarwar - Malwa + _ e
Khwaja Jahan (d) AfeTeh FTR T SR 5 U
qqg T
46. At the time of second wave of| 46. Hifas-19 ﬂ%’mﬁﬁ?@iﬁw 3 s
COVID-19 Pandemic, which institute 3 T TR Y Ao S H Te
had demonstrated the conversion of wesi e o1 7
nitrogen generator into oxygen generator ? oy X
(a) IISc, Bengaluru (a) mulans‘la'a;”;l HEI, SR
(b) LIT, Bombay (b) 3.2, TR
(c) IIT, Madras (c) 3T%.37%.81., AgTE
(d) IIT, Kanpur W) IRIRA., FAR
47. ‘Uttar Pradesh Swami Vivekanand | 47. ‘St Yew @Mt faaem—< Wfdgie wdet am
Etihasik Paryatan Yatra Yojna 2021’ was AT 2021’.3;‘[ I e THN T uifdes g
introduced by the U.P. Government for & fow o 1 @ g =afamt & o sy 6
which of the following people for religious 2 7
travel ? o :
(a) Elderly (b) Women “4) %@”ﬁ;gq (b) IT%ETE?; ;Qf‘vm
(c) Widows ™ (d) Labourers (c) faean fw  (d) o
» i - i ' - { 1w
48. Which of the following Schemes in Uttar | 48. fimfifRaq & @ HH-H TN IT T
Pradesl'é 2wg)ere introduced in Budget of 2021 - 22 ¥ 3nfyet i TR ?
2021 -22¢ .
L. Atlr{nanirbhar Krishak Samanvit I. AR b gufra faem e
Vikas Yojna : e
II. MukhyaJMantri Saksham Suposhan IL. 5@’15“ HEH I
111 Kﬁiﬁ% Mantri Pravasi Shramik L. g 1 s A
. a Mantri Pr
= gdhy%rgga Vikas \XﬁjnaAbh' IV. Za1 Safiar fasm aftem
. Yuva yamita Vikas lyan o 3 I EH
Select the correct answer from the codes = foy g2 @ vl I i |
given below. %e: . :
Codes : (@) I, 1 @& III (b) II, Il @& IV
(a) I, IT and III (b) II, IIT and IV . g
(@ LIland IV (d) L, Mland IV (c) I IV (d) L Il @& IV
By -10-
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49. A

50.

51.

52.

53.

54.

member of State Public Service
ssion may be removed by

Governor on the basis of
5 ’irxggeachment in Vidhan Sabha
(b) The Governor, after the enquiry
conducted by the Supreme Cpurt
The President, after the enquiry
conducted by the Supremc Cpurt
The Governor, after the enquiry
i conducted by the High Court

Commi

(c)

. 1 of the following Institution / Office
;)Nr}ilr;g:)ut the Wholesale Price Index (WPI)
data in India ? :

(a) The Reserve Bank of India
(b) The Ministry of Commerce and

Industry _

(c) The Ministry of Finance .
(d) The Ministry of Consumer Affairs,
Food and Public Distribution

Which one of the following is NOT a major
coco producer country ?

(b) Cameroon
(d) Ivory Coast

(a) Latvia
(c) Ghana

Which one of the following is NOT an
element of rural community ?

(a) We-feeling

(b) Cultural diversity

(c) Territory

(d) Self-sufficiency

Which Constitution Amendment Act
reduced the voting age from 21 years to
18 years ?

(a) 66" Amendment

(b) 6274 Amendment

(c) 615t Amendment

(d) 6379 Amendment

The Public Accounts Committee of Indian
Parliament scrutinizes the

(a) Report of the Comptroller and
Auditor General

(b) Consolidated Fund of India
(c) Public Account of India
(d) Contingency Fund of India
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49. mmwmﬂ%mﬁmm

[l
(2) Fyer gt 3 TR 3 SR T

B
(b)mnmmazﬁah%vﬁﬂmm

NG EISE! .
(d)mumé,mqaaﬁaﬁﬁﬁam

AT

51. Wﬁéﬁ—m@mwmm
A e
(b) HHEA

ZARSIGIER]
(c) g1 (d) g I

5o frfiRag § & wiA-a WHT TG BT A
T ?
(a)ETITﬁ'mEFﬂ/

(b) Tiepieren ferfererar”
(c) &

W) Freafrar

53 FH-F Gfyum g sfafEm g waeH 6/
g @ 21 o ¥ wereR 18 oY foRa T o ?
(@) 66 af GINYA
(b) 62 af GENEA
ve) 61 af Gened
(d) 63 af e

54. WG GEg Y T o |t weEten @
(a) T 7 wererE e & wfeae A
(b) ¥ &t wfera ffer <t
Ac) YT & e i@ 6t
(d) vt < SRR faftr i




5S. Given below are two statements, one is

labelled as Assertion (A) and other as

Reason (R) :

Assertion (Az : The Mughal Empire was

originally a Military State.

Reason (R): The vitality of the development

of the Central Government System

depended on its military power.

Select the correct answer using the codes

given below. .

Codes :

(@) Both (A) and (R) are true and (R) is
correct explanation of (A)

(b) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

(c) (A) is true, but (R) is false

(d) (A) is false, but (R) is true

With reference to the ‘Uttar Pradesh

Population Control, Stabilisation

and Welfare’ Bill, 2021 which of the

following(s) is/are correct ?

1. This Bill aims to bring the birth
rate down to 2.1 per thousands
population by 2026.

2. At present, the fertility rate in the

S6.

SMRN-1 - 0

mﬁ,mﬁﬁ@@m“]
ik igé el (R) g1 T @ : |
AT T 9 H T

. A=
% o ga Wl H
atftrmer (A) : I

T ot |
T (R) : e A ST F

mﬁamﬁﬁﬁﬁﬁwﬁmﬁﬁwﬁl
:ﬁ%ﬁqmﬁzﬁﬂﬁmﬂwmx

E;A)W(R)ﬁméaﬁt(m, (A)

aé’tsar@nm% |
(b) (A) 3R (R) &t &4 &, 74 (R), (4) -

a& =aTE TEl Il 8
() (A) & B, g (R) o B
(d) (A) T 2, g (R) & &

56. ‘I GG PR, fRRR 3R o
fers, 2021 % g § FH-U1/8 Y7 =

8/8 7 |
1. 39 fadae =1 38T 2026 Th FH T F

2.1 9fY TR STEEAT T HH HET 2 |
2. g ¥ T ¥ Yo X 2.7 Ufd &9 2

State is 2.7 per thousand.
Select the correct answer using the codes e fo m R ¥ vt I A ﬁﬁ'Q !
given below. e ;
Codes : S X
(a) Only 1 (b) Only 2 (a) L L) 2
(c) Both 1 and 2 (d) Neither 1 nor 2 vc) 1 3R 2 3t dT@13d2
57. Match List - I with List - Il and select | 57. et - I %t g=ft - 11 & gifra Aifdre 7en ghe
the correct answer using the codes given ¥ = e o F Q Tt W FT 997 Hifr |
below the lists. geft - 1 Tt - 11
List - I List - II ]
(State) (Representation in (T=3) - (STt ¥ gfafafa)
Rajya Sabha) A, TS 1. 10 %
A. Rajasthan 1. 10 seats B. TSR 2. 7dp
B. Gujarat 2. 7 seats C. FaizH 3. 114
C. Karnataka 3. 11 seats : : :
D. Punjab 4. 12 seats D. s 4. 12 91
Codes : %e
A B C D A B C D
@ 1 3 4 2 (@) 1 3 4 2
(b) 2 3 4 1 (b) 2 3 4 1
© 1 2 3 4 () 1 2 3 4
4 4 3 1 2 v@) 4 3 1 2
B -12-



clove represents to which of the

: wing ?
followi g (b) Accessory bud

() Terminal bud
(c) Flower bud (d) Vegetative bud

eadline inflation refers to the change

AS S )

PR

+ in value of all goods on the basket. On
which basis 1s the headline inflation
easured ?
a) Wholesale Price Index
((b; Consumer Price Index for Industrial
Worker )
c Combined Consumer Price Index
(d; Urban Consumer Price Index -
The symbol ‘ECOMARC’ is related to
which of the following ?
(a) Goods of best quality
(b) Safe goods for environment
() Exported goods
d) Imported goods

wVhich of the following is the correct
sequence of the Islands of Indonesia from

Vest to East ?
a) Java, Sumatra, Lombok, Bali

5) Sumatra, Java, Bali, Lombok
~) Sumatra, Java, Lombok, Bali
i) Bali, Sumatra, Java, Lombok

Thich of the following is NOT mosquito

srne disease ?

) Dengue fever
) Sleeping sickness

ENSEX’ is the popular Index of Bombay
ock Exchange (BSE). It is measured
. the basis of how many blue-chip

mpanies listed in BSE ?

20 (b) 30

25 (d) 10

nsider the following Committees on
nchayati Raj and arrange these in
ronological order :

Ashok Mehta Committee

L.M. Singhvi Committee

B.R. Mehta Committee

G.K.V. Rao Committee

ect the correct answer from the codes
n below. s,

les :

[, II, III, IV
i, I, 11, 1v

(b) Filariasis
(d) Malaria

(b) I, I, IV, 1I
(d) I, 11, 1V, I

-13-
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58, ofin Prefaa i @ feeew FreaT ? 7

(a) e el (b) @& Hell

Je) FE el (d) ==rEafa eft '
fiies iRy At & il T % A A
it @ Hefifa w8 | sfrer ggrehifa T
mwﬁﬁganwwgﬁﬁmm% ?

(a) &N T HIPID .

(b) ienfireh Aftre Juvterdm qeA TAPTD

(c) |mYfEeh ITHIF et TAPTD

(d) Tl SuvE Hed HAPTP :
S (ECOMARC) Fdi Prferfiga & 4

fopod wfa 2 7
(a)aaﬁ?angmﬁamtﬁ@f
(o) e 3 fere g wwEdt |
(c) Frrffea wmft @

(d) smmaTfea @rEl @

61 zverRr 3 g awg 3 wfee & g o A S
el g Fread B & BT R 7

\A] STa, gAT, e, e
(b) GATAT, ST, STl RILEIE]

(c) GuTT, ST, RICCIERCLN
(d) =Tedt, GATT, ST, RILEIE]D

60, Frefufed § & SF-a1 1wt e 7@ € 7
(@) @Lm \;ﬁg) AT

Wﬂﬂ{%{-@ (d) wfEn

63. TdeE R wie TEEsS (BSE) W yHfed

quehi 3 | Hemd. § geteg feet = e

FHRE & 39 AT BT 8 7

(a) 20 \(T 30

(c) 25 (d) 10

et T R e afifea wfemm fifse qun

3 SHICTHATIHT SAFEd

1. 319ieh Hean |t

I1. Uer.un. Tt afufa

11, . eR. Wear wfafa

Iv. sit.a.ft. e afufa

e few T e Y TREAT 8§ Hal I H =T

T |

e :

@I I, 1, Iv ¥ I I, Iv, II

(I, I, II, IV  (d) II, II, IV, I

59.

60.

64.




l%’i:‘ﬁ: T
i is NO
65. Which onc of the following 18
correctly matched ?
ces
(Provisions) (%OSUI: )
(a) Fundamental Rights -
(b) Directive principles of s
State Policy - Irela
c) Residual Powers of .
() Center _ Australia
— Germany

(d) Emergency powers

The blood glucose level is commonly
expressed as

(a) MM of Hg

(b) Milligram per decilitre

(c) Parts per million

(d) Gram per litre

Consider the following events and arrange

7.
them into chronological order :
I. Sharda Act
II. Nehru Report
III. Constitution of Simon Commission
IV. Dandi March
Select the correct answer using the codes
given below. i, ) ‘
Codes :
(@) III, I, I and IV
(b) 1, I, IIl and IV
(c) IV, III, 1l and I
(d) I, IV, II and III
68. Which of the following i
e hes g is NOT correctly
(a) Acid present in — Acetic acid
vinegar
2 .Corbnpound present — Calcium
in bones
h
(c) Souring of milk g II:I; O.Spha.te
(d) Acid o 1tric acid
1d preserit in — Hvd ]
gastric juice % gfidrochlonc
B

e (&)
D i g T
(a) T ST
a—a-—aﬂ'&’{ﬁ"g
T B et - SR
Wa,-.aa?raqaﬁﬂ atﬁ-{
gfFaat ~ =
\@W
66. mﬁmwqualéiaﬁw
ST 8 i
wew AT He :
O e s 3aret 5 % 7
(c)miauﬁffhi%mﬂ%wﬁ
(d)umaﬁr%faaswﬁ
67.ﬁm1%1ﬁaaazmaﬁqzﬁamﬁmamm
Wﬁaﬂmf@mﬁﬁq:
1. R St
I1. Y& T
I11. |T3HA HHISH ohT TS
V. SiEt O
i R T Fe @ G A HT TFH HIT |
e

Ja) 1L, 11, 1 qe IV
(b) I, II, III T IV
(c) IV, III, II 9&T I
(d) I, IV, IT 91 III

68. P # & -1 wt g i § 7
(b) BfEA ¥ IufRE A _ 2 ~

HIEhe
\€) QY T @ B uie
(d) TR W § 3Iufy ‘,:_jl_sli;;.

-14-

"~TV\;‘




B

W%
%Ma’wh List — I with List — II and select

rrect answer using the codes given

4 géfoig the lists.

List — List - II
(Biosphere) (Location)
gimilipal 1. Uttarakhand
pachmarhi 2. Meghalaya

C Nandadevi 3. Madhya Pradesh
D. Nokrek 4. Odisha
codes ¢
A B CD
(a) gy '3 2 1
(b) 2%:3 1 2
() 1 3 4 2
(d) 3 4 1 2
70. Given below are two statements, one is

71,

72,

B

B o
1

labelled as Assertion (A) and other as

Reason (R) :

Assertion (A) : Teesta river was earlier a

tributary of Ganga now it is a tributary

of Brahmaputra.

Reason (R) : River capturing is a major

feature of Himalayan rivers.

Select the correct answer using the codes

given below.

Codes :

(a) Both (A) and (R) are true and (R) is
correct explanation of (A)

(b) Both (A) and (R) are true, but (R) is
not correct explanation of (A)

(c) (A) is true, but (R) is false

(d) (A) is false, but (R) is true

Who among the following person said
for the Fundamental Rights “a pledge to
‘our people and a pact with the civilized
‘world” ?

/(@) Pt. Jawahar Lal Nehru
(b) Dr. Bhim Rao Ambedkar
(c) Dr. Rajendra Prasad

(d) Dr. S. Radha Krishnan

In which one of the following cities
Country’s first Indian Institute of Skills
‘Was established ?
(a) Ahmedabad
(¢) Rohtak

(b) Mumbai
(d) Kanpur

¥ A e
g [ e v:
o ris AR Y Al

SMRN-1 - 21
69 Fﬁﬁ-laﬁqaﬁ—llég&%ﬁﬁﬁqwﬁﬁ’ﬁ
%ﬁﬁqmwﬁa@mwwml
g - 1 gt - 11
(Staruse) (arafeafa)
A. Tyfietiore 1. ITETS
B. =M@l 0. R
C. Aree 3. TEY WeW
D. rhiteh 4, 3nfem
|
A B CD
@ 4 3 2 1
S 43102
€ 1 3 4 2
d 3 4 1 2
70. :ﬁ%aaﬁmﬁqnﬁ%’,ﬁﬁﬁ@aﬁmm
37 g P F (R) TR 4
a&mm(A):ﬁwqﬁqﬁﬁnaﬁmﬁ
of} TSI I S hl eI T4 E |
W(R):ﬁmmﬁwﬁﬁm@
THE R | \
2 firw T e & TE I H =TI AT |
®e :
M(A)aﬂt(R)aﬁm%aﬂt(R),(A)ﬁmﬁ
ST T B
(b) (A) 3 (R) B wea &, R (R), (A) T
e ST e Ll ©

(©) (A) T &, g (R) Tl &
(d) (A) T B, foheg (R) I &

71 Frefefaa § & frg saf Y g iRl @t TR
St 3 fora e s e we foe & @iy R
T gHEar el ot ¢
(a) TfoEd SETER AT AE&
W) <. i et
(c) ST, TS5 J91e
(d) 1. TE. TETFsH

70, Frerfafed wed § 4 f5g s ® @ 1 9UH
i piyrer e Eenfua foRar w7
] TEHqETg (b) . =3
(c) Uga (d) FHEL
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73.

—~

4,

7S.

76.

77.

78.

79.

Which amon
Permanent
stations in

g the following arc India’s
and operational research
Antarctica ?

(&) Bharati and Arya

(b) Bharatij and Dakshin Gangotri

(c) Bharati and Maitri

(d) Dakshin Gangotri and Maitri

Which of the followi
charge ?

(@) Positron
(c) Electron

ng particles has zero

(b) Neutrino
(d) o-particle

With reference to the radioactivity,
which of the following statements is/are
correct ?

1. Radioactivity is a nuclear property.
- Hydrogen bomb is pPrepared on the
principle of nuclear fission.

Select the correct an
given below.
Codes :

(&) Only 1

(b) Only 2

(c) Both 1 and 2
(d) Neither 1 nor 2

Swer using the codes

Who originally Propounded the theory of
three stages of socia] development ?

() Karl Marx (b) Talcott Parsons
(c) Herbert Spencer (d) Auguste Comte

‘Ringelmann scale’ is used to measure
density of :

(2) Smoke (b) Polluted water
(c) Fog (d) Noise

In India the First Munj
was set up in which
following places ?
(a) Calcutta
(c) Bombay

cipal Corporation
one among the

(b) Madras
(d) Delhi

Diffusion of li

ghtin the atmosphere takes
place due to

(a) Carbon dioxide (b) Dust particles

(c) Helium (d) Water vapours

-16-
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' ' LR LC TS
3 & A ~T FRIHT 17
?;ﬂigaam afrenfer STEYH RIF R
(a) Wt 3T I !
w5 vt afv afior TR
(qqum%ﬁfm
Jd) gfor T 3 |
74. Prafafas 1 & R S0 9T ST 2y
(a) Tifig v) =feH
(c) TR (d) FTHI-HmT
m.ﬁ@%ﬁdng%iﬁ#ﬁ@nmﬁﬁr
-g1//
a?quaéuﬁi?@ TR 70T B |

2. TR frgved % g W gEgem =
T ST R | )

R T 7T g i gEEar ¥ GE I 1 =
Hifve | '

@&

§Z:

) Fae 1

(b) Sheret 2

(c) 1 3R 2 =i

adiado
m.mﬁﬁﬁ%méﬁh@mmﬁwﬁ@mgm

%ﬁw%ﬁm%mmwv

(a) Tt T (b) TR U

(c) &R W= (d) 3T whR
71“ﬁwh@mwmwwﬁw%@aﬁa%w

ETE A A AR

(2) yaxt (b) S

(c) g (d)
78. ﬁwﬁ%%qmwmﬁmwﬁm

e R o o

\&) FHershdr (b) W :

(c) O = (d) Rgh |
79. Wﬁm%mwmg

(@) rT-3Té-arewTes UB) e e

(c) Eiferay ;




gﬁ%

80.

8l.

82.

83.

84.

Wwho among the following never presided
a Session of Indian National Congress ?

(a) Lala Lajpat Rai

(b) Bal Gangadhar Tilak

(c) Gopal Krishna Gokhale
(d) Subhash Chandra Bose

which of the following labour related
Acts have been amalgamated into the
‘Code on Wages, 2019’ ?

I. Minimum Wages Act

II. Payment of Bonus Act
I11. The Contract Labour Act
V. Equal Remuneration Act

Select the correct answer using the codes
given below.

Codes :

(@) I and II only

(b) I and III only
(c) I, Il and IV only
(d) 1, II, IIT and IV

Who among the following had performed
the world’s first heart transplant ?"

(a) Dr. Venugopal

(b) William Harvey

(c) Christian Bernard
(d) William Betrick

With reference to Socotra’ Island, which of
the following statement/s is/are correct ?

1. It is an Island of Oman, situated in
the Arabian Sea.

2. It was designated as a world natural |

heritage site by UNESCO in 2008.

Select the correct answer using the codes
given below.

Codes :

(a) Only 1

(b) Only 2

(c) Both 1 and 2

(d) Neither 1 nor2.

I(;Ifitrogen is NOT an essential constituents

(a) Chlorophyll
(c) DNA

(b) RNA
(d) Carbohydrate

80.

81.

82.

83.

84.
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e it ¥ -8 o Tt R A Tl
dfiar, 2019’ § wftufer foFm ™0 2 7

. =JFaw gt sttt

1. g e rfafam

111, sfeer wm srfufam

V. g et arfufad

£ A T Fe ¥ TE IR F T HIRA |
Fe:

(a) Shaet I 31T

(b) et 11 3T 111

(c) e 1, 11 3R IV
@I,H,maﬂxw

fvg %1 TEe wed verwu fre # & e
forar e ?

(a) SI. %@ﬁwm
(b) faferm &
LK)

(d) faferm afg=s

T A9 % ged # Freffea § @ ¥F-w1/R

HERE B/B 1 ‘

1. T8 S < T €19 & SN o TR A fRa R |

2. T& 2008 ¥ Fyeh! T fava et faaa
T & F9 H e |

2 Ry T e @ Wt swgha |
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() Fae 1

(b) e 2

¥ 1 3R 2 qM

(d) T 1A 2

AL Teh Y 99T T 2
(a) FARTHS 1 (b) . T T FH
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85. Which one of the following books written
by Noble Laureate Amartya Sen and
published in July, 2021 ?

(a) Development and Freedom
(b) The Argumentative Indian
(c) Home in the World
(d) The Idea of Justice

86. With reference to the Satavahana Rulers
which of the following statement/s is/are
true ?

1. The Satavahana Kings were the
nurtures of Prakrit language.
2. Public aspect of the arts got
more encouragement during the
Satavahana period.
Select the correct answer using the codes

given below.

Codes :
(@) Only 1 (b) Both 1 and 2
(c) Only 2 (d) Neither 1 nor 2

37. The primary duty of the Finance * !
Commission of India is
(@) To give the recommendations on
distribution of tax revenue between
the Union and States
(b) To prepare the Union Annual

Budget ;s
(c) To advise the President on financial

matters

(d) To allocate funds to various
Ministries /Departments of the
Union and State Governments

3. ‘Statue of Peace’ is situated in which
State of India ?
(a) Madhya Pradesh
(b) Rajasthan
(c) Gujarat
(d) Himachal Pradesh

- Fruits stored in a cold chamber exhibit
longer storage life, because {

(a) Exposure to sunlight is prevented
(b) Concentration of CO, in environment

1s increased
(c) Rate of respiration is decreased
(d) There is an increase in humidity

86.

sireared et |
13 fo o e & ) I A I
%e: .
(a) ¥ 1 (b) 13 22
(c) Fee 2 (@ A 1A 2
87. wRa % forer o w1 Sfi oA @
) T 3R T % wea R Tered 3 forawr
3 fawrft o

(b) T anfifer sete dam T

(c) Tsgufa =t foahar wmmel ot garet &

(d) &g 7 T THRT * fafr derert /feamt

& foru fftrnt <61 fafars s

88. W Iiih Ne’ wRd % fore Trowr o FrafRm & 7

(a) HET

W) TSeaE

(c) TR

(d) femreret s !
89. %mﬁwmaﬁmwamé,

(8) T % W1 1 He T ey 2

(b) FTTERY & weht CO,, Higar

MC) T8 T T B

(d) HATAT T T
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(S
o0 garld B 1926 AD. ?

9l.

93.

9.

B

&Who- among the following was NOT an

mber of the Naujawan-Sabha’

m ;
fz;Bhagat,SU1gh (b) Yaspal
((C) Chhabil Das (d) Ambika Chakravarti

e Clock is Ticking’ is the the
J&ih of the following days ? i
(@) International Yoga Day, 2021

) [nternational Women’s Day, 2021

0 world Tuberculosis Day, 2021

( )
d world Malaria Day, 2021

su amya Bharat Abhiyan is associated

wit
(& Disabled Persons

(b) child Health Care
(© women Empowerment
(d) Under Privileged People

Which of the following Bills can NOT be
first introduced in Rajya Sabha ?

(a) Ordinary Bill ‘
(b) Constitutional Amendment Bill
(c) State Re-organisation Bill |
(d) Money Bill

With reference to ‘NET — ZERO’ goal for

2050, which of the following statements

is/are correct ?

1. It means that a country will bring
down its emissions to zero by 2050.

2. It means that a country’s emissions
will be compensated by absorption
and removal of green house gases
from the atmosphere.

Select the correct answer using the codes

given below.

Codes :
(@) Only 1
(c) Both 1 and 2

(b) Only 2
(d) Neither 1 nor 2

9. At which place did Raja Ranjit Singh set

up the Adalat-i-Ala ? y
() Amritsar (b) Lahore

(¢) Firozpur (d) Multan

-19-
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90. fr=fafiga o & 1926 ¥. # e “Frea-adT

1 yTEeE TeEd i TG AT 7
¢a) wa fig (b) FLATA
(c) Bl g™ \ga(;q%mm?ﬁ

‘2 Feifh 31 fefeRm’ frefafaa § & fra feaa
6 ofim B 7

K(a) s A feem, 2021
#(b) e Afeen feaw, 2021

wic) Taga et feaw, 2021

(d) forza mafen femr, 2021

93. ﬁm%ﬁaﬁﬁﬁaﬂq—m%ﬁwmmﬁaww

et =Tt fRa ST a8 7
BRI EURCERED

(b) Tt T¥ieA foreras
(c) T=a gife e
vd) & fagaes

94. 2050 ¥ T T’ T F o T

freffad # ¥ -1/ FA TE /R ?

1. zaeht 3T § f6 @ = 2050 dh ITh

Iee S Y a9 @1 |
>, T I & B fRE 3w % IcEsH

1 fghl amara & 1A geE e H
FrTeRToT g SrERNer | g |
Hi2 fw o w5 A T IW 1 =TI KR
H2:
(a) e (b) had 2
\-g;zhaﬁtzaﬂ‘i (d) TR 1T 2
95. TeN Wia &g A fre R T Agd-T-3ATel
&) Ty 7
(a) SIS ) TER
e e (d) Herw
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i

96. Given below

97.

98.

99.

100.

arc two statements one is
labelled as Assertion (A) and other as
Reason (R) :

Assertion (A) : The President of India
determines the qualifications of the
Chairman and Members of the Finance
Commission.

Reason (R): Chairman and members are
appointed by the President of India.

Select the correct answer using the codes

.

given below.

Codes : ™

(a) Both (A) and (R) are true and (R) is
correct explanation of (A)

(b) Both (A) and (R) are true, but (R) is
not correct explanation of (A)

(c) (A) is true, but (R) is false

(d) (A) is false, but (R) is true

Which of the following is NOT the eligibility

criterion before filling registration

application forms for Uttar Prades

ukhya Mantri Swarojgar Yojna 2021 ?

(a) Age group from 18-40 years

(b) Minimum high school pass certificate

(c) Should not registered in any Central
Government or State Government
Swarojgar Yojna

(d) Citizen from any State of India

Which among the following districts of
Uttar Pradesh is smallest in terms of

area ?
(a) Hamirpur (b) Hardoi
(c) Hathras (d) Hapur

Consider the following and arrange these
in chronological order :

I. Golak Nath Case

II. Keshawanand Bharti Case
III. 24th Constitution Amendment Act
IV. 42nd Constitution Amendment Act
Select the correct answer from the codes
given below.
Codes :
(a) I, 111, II, IV (b) I, 1I, III, IV
(c) I, 1, II, IV (d) 11, 1, IV, 11

PM VANI Yojna is related with ,

(a) Censorship in Print and Digital
Media

(b) Development of Lok Sangeet

(c) Audio-Visual Release of Lok Sabha

(d) Availability. of Wi-fi in Public places

96.

97.

98.

99.
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)1, In the contexts of Indian history, which of
" the following statement /s is/are correct
regarding Vaikom Satyagraha ?

1. It was a satyagraha againsts
untouchability and caste
discrimination.

. Mahatma Gandhi participated in
this Satyagraha.

gelect the correct answer using the codes
given below.
Codes :

(a) 1 only

(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2

2. Which of the following words is NOT
mentioned in the Preamble of the
Constitution of India ?

(a) Sovereign (b) Democratic
(c) Secular (d) Federal

3. Which of the following is the largest
lagoon lake situated on the east coast

of India ?
(a) Pulicat (b) Chilka
(c) Kulleru (d) Kilivali

04. Who among the following Director
won the Oscar Award for the best
motion picture in 2021 for the movie
“Nomadland” ?

(a) Chloe Zhao

(b) Emerald Fennel

(c) Lee Issac Chung
(d) Thomas Vinterberg

05. Among the fcllowing countries. India’s
trade balance surplus is maximum with
which country in 2019-20 ?

(@) USA

(b) China

(c) Japan

(d) United Arab Emirates

106. The functions of the State Public Service

Commission of Uttar Pradesh can be
extended by

(@) Prime Minister

(b) Union Ministry of Personnel, Public
Grievances and Pensions

(c) The President
(d) Uttar Pradesh State Legislature

SMRN-1 - 21

101, Tl shrETE * Ha  aRER GemE % Ty
3§ PrfrRaa e # @ Be-u1/2 ad 8/8 7
1, g arEgE S Sl demE % e
Ueh GeAWE o |
0. TrETedT Mt X 37 aeamg # v o A

2 R ¢ e 1 T HHE I IAC |
%

(@) had (b) e 2

(c) 1 3R 2 g (d) @ 1LAE 2

102.ﬁm%fi§ﬂﬁﬁﬁ?—mmmdﬁmqﬁ
JEqTET 3 Sooiiad el © 7

(a) HEIHT (b) STHIATHE

(c) Tt wd] w=iE
103.ﬁm1%rﬁaaﬁi@m%ar@°fasz@mma€t

A e - B 7

(a) Gefipe Wp) e

(c) FTe (d) ferefiat

104. 2021 T 3TFERt 3TETE B g ST HIwH o= 1
o Sy aret fren “Airgdve” F1 e
freafafaa & @ foram feeam o 7
wa) YA T
(b) THUES %A
(c) <t z@T I
(d) ufee fewn

105. 2019-20 ¥ Fr=feiRaa <ot # | frad wd =
IR Y TR Faiiees @18 ?
ve) 4, . T
(b) =
(c) S
(d) ST IS ITHRT

106. I T F T TS [T A F HEAT HI
e fora ST gehaT B
(a) TuTEE gl
(b)%aﬁawﬁa;,aﬁmmmt‘im
AATTT gl
(c) Trsgafa gra
Ad) ST Y fau™ Aved g
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st — I with Lis

t — 11 and sclect

e mgtggrrléict answer using the codes given
el et e List - II
(Text) (Author)
1. Somanath

A. Ragamala
B. R:Ea Kaumudi

C. Raga Vibodh

2: Venkatraman
3. Pundrik Vitthal
4. Sri Kantha

D. Chaturdandi

Prakashika
Code: i c D
(b) 4 2 1 3
(o 2 3 4 1
(d 1 2 3 4

Which one of the following is the main

108.
constituent of I<PG ?
(a) Hexane (b) Pentane
(c) Butane (d) Methane

Which among the following is NOT a

major factors of economic growth ?

(a) Accumulation of capital and
reforms in technology

(b) Change in population

(c) Division of labour in specialised
activities

(d) Technocrats and Bureaucrats

109.

“Zero Hour’ in the working of the Indian

Parliament means

(a) The first hour of the Session

(b) When privilege motion are accepted

(c) Hour before question hour

(d) The time immediately following the
question hour

110.

In which year the book ‘Poverty and

111.
Unbritish Rule in India’ was published ?
(@) 1900 A.D. (b) 1901 A.D.
(c) 1902 A.D. (d) 1903 A.D.

Who among the following has been
appointed as first Women Treasury

Secretary in United States of America ?
(a) Lyoyd Austin

(b) Janet Yellen

(c) Merrick Gardand

112.

(=2 Lot

1o7.§;;ﬁ Ifaquﬁ?ﬂ“@ﬁ%ﬁ_n
ot - 1 ()
% ), A
A. . ila
B. @ #1T § qusti e
c. g fray S e
ﬁz:A g ¢ D
(a) 3 4 1 g
b 4 2 1 :
2 3 4 L
@ 1 2 3 .
108.ﬁmﬁﬁaﬁq—mw.ﬁ-ﬁﬁ-ﬂﬁ@”m /
(a) BF0A (b) W=
We) S (@) e

109, Freffaq & & HH-|1 aTfieh o T 3w

FAH AL S 7 |
(a) it 1 T T eI GUR
) SreET & aREd
(o) Ferirfigra et /mfafaftrt & orm fontrem
(d) Terltehferg Ta FIeHITE
110. YR o Y FEarE § Y Hie’ w7 B
(a) T I WUH HT
(b) 5@ faRIwTitreRR T&aTa ithd 8T 8
WE) SR T o I T el
(d) I¥ 1A <hl Sk ITET T et
111. ‘I Woe Il & 1 3foear ame geas

forg o st g€ ¢
(a) 1900 3.

(b) 1901 %.
(c) 1902 §. Jd) 1903%.

112. frfafea & @ frawt 9ywa voa s o
g9 Aigen Ush i
i gurt Zﬁa?mﬁﬁmﬁ;m
(a) oIS IrifeeT
(b) I IAT
(c) At TE=s

(d) Tullipan

(d) =qfera=
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Y :":2 ,
hy :ch one of the following is known as
13 lez]eration stage in the urbanization
a0
TG
Cl;'FiI‘St stage
%ﬁ) Third stage

(b) Second stage
(d) Fourth stage

SMRN-1 - 21

1.13.ﬁm%f®aﬁﬁmaﬁmﬁwwwﬁaﬂﬁ

S7aE ThET ST B 7
(a) T LT
e arereet

Wﬁﬁ&tﬂaﬁzﬁrﬂﬁﬁﬂﬁ@ﬁ?—mﬁﬂ

i in deﬁciency causes which of the | 114. )
114 follo‘Ving diseases ? A ?
@) pellagra (b) Scurvy \d) T (b) Tl
o Beri Beri (d) Cheilosis (c) ¥4 o (d) | !
yho among the following was NOT | 115. frg & 1 T 1924 % hHAYL TSI AT
15 ;ssociated \Zitgl the Kanpur Conspiracy yifirer 7 o1 ?
(Y y b W
caSMuzaffar Ahmed  (b) Nalini Gupta (a) FeTTRT STEHQ Ed; @'E“ Q“. ;
« Shaukat Usmani  (d) M.A. Ansari (c) TiteRe SFAT :
; : : SR
Ministry of Culture, Government of India | 116. 9 &N * H’{ﬁ’?ﬁ IHTE;TQ‘ 2.021 g d
16. s part of Azadi ka Amrit Mahotsav Tereqd & Th 3T %:.g;q 4, 20 S
gelebrated the birth anniversary of m yfara 6 SRidt I I 7 frefafad
gaheed Ram Prasad Bismil in June, ﬁ@gﬁ,-gma = Tl 7
021 at which one of the following places T e{ .
in Uttar Pradesh ? . (a) 8 2 () TSR
(a) Chauri Chaura (b) Shalyahanpur (C) )
(c) Rampur (d) Ballia AT % CINEL e
7 Whi f the following newspapers 117. ﬁﬁli?ﬂ@a. H‘ Tl ferer 5" fefesd ;
“/'gc?ric?h: ‘pulitzer Prize, 2021’ in the a1 Soft § Wm, 2021 HAT 8
restigious public service category ? (@) T S e B,
(a) The Wall Street J ournal (b) T & oTer
(b) The New York Times Ma . v
(c) The Washington Post @ a”glq}glal
(d) New York Post :{mé; ﬁaﬁg%ﬂﬁ@a
18 Nobi and Kanto plains arc }oca;ted in | 118 37
which of the following countries r (aj e - -
(a) North Korea (b) SOlrlth Korea % cagel ¥ i cael
(c) Japan (d) China s|.|q|:|
- is 19. el § THE fyfymr 1 T 8
119, Site of gaseous exchange 11l lungs :
¥ i (a) SRR (b) SfereTeH
(b) Bronchioles .
(a) Tracheoles : 7 @)
(c) Pulmonary vein (d) Alveoli qered R feartes
: s i frerfrfae o & -9 T IH FE) gafod
120, Which one of the following pairs 18 NOT | 120 g
correctly matched ? ! ( )
(Tirthankar) (Nirvan Place) i (chefert) b fafor f‘?"
(a) Rishabhanath - Ashtapad i éb) eSSl i P EZI ﬁli f
(b) Vasupujya = Sa'rnmedashl i HEES _ e
O Neminath - Urjayanta i i e
(d) Mahavira — Pavapurl
& -23-
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X r [4 Y-ﬂw .
L ] . es of glass can 121. ff;t"ﬁ ) @predl g7
. = Which of the following types OfF ys1 HiE
;v 121- Tt off ultraviolet rays (n) e
{ (a) Soda glass (b) "1 fa
i (b) Pyrex glass & (c) AN B
3 - | g w4
| (c) Jena glass () ..
(d) Crookes glass oy, gl = 1 a1 gt - 11 a gﬁﬁ«m #ifsu 7u1 -
. > y ] ’ b ,
|25, Match List — 1 with List = 11 and s¢lec: 3 o) fi i 2 @ W I 37
the correct answer using the codes g Hf‘ﬂ -1 em— I1
low the lists. aqad
be O\L is:;e.. : List - IT (mrgd? ) -{géﬁ )
(Volcanic (Country) A A3 TR / 1. :
Mountains) B, TEvE G o, BfFaa!
A. Mount Rainier 1. Italy Y 3. focftus=
B. Mount Etna 2. Mexico C. i 4, 4.749.T.
C. Mount Pericutine 3. Philippines D. A%
D. Mount Apo 4. U.S.A. L T4
Codes : A B CD
A B C D @4 2 1 3
a4 2 1 3 4 1) 2 3,
M4 1 2 3 o 3
©2 1 4 3 (‘33 ; ; X
d4 3 2 1
i ing is indi i frerfrRaa & & FH-|1 9 FGTT BT IF 2
123. Which of the following is indicator of air | 123.
pollution ? - b) T
(a) Puffballs (b) Algae vy (a) TREICH _ (b) )
(c) Lichen (d) Moss Ac) Tz (d) =™
124. ;?Vhicklllocfi' tl%g foélowinRg orgainization hfas 124, = & @ frg de g0 Hifag -19 & 9w
aunched ‘The Great Reset’ Initiatives for } AfSe arefeaaer & I -
the recovery of global economy during R A = * %’Q’ EECAUE
the Post Covid — 19 phase ? I sl AT m 1 7
(a) World Economic Forum R fava it ww
(b) World Bank (b) forem &
(c) OECD (c) 4.3
(d) UNCTAD (d) 3werE (. A )

125. The winner of the women’s single title at | 125. %9 AT Mg zafﬁz
the French Open Tennis Tou%namcnt, . Rears € f’ 2021 H #fEET THe

2021, Barbora Krejcikova is from which .
of the following coi]mtries ? iy idfradwat e
(2) Czech Republic (b) Serbia ) % TRy (b) =i
(c) Croatia (d) Spain (c) hIeRmm (d) ¥ |
126. The name of the foreign journalist wh faesft R AT R y=T |
reported about Satyag%gﬁla at Dh:rs‘g’ng s TR ol m- e |
salt works was TR W % R & TR feg
(a) Francis Louis (b) Mark Tully | (a) SHiftr
(c) Web Miller (d) Philip Sprat L ﬁﬁ«? (3) f::#?ﬁ e
B 24 y




A
W Nobel Peace Prize, 2020 was awarded

27. 0 hich of the following organisations ?

l :‘World Food Programme ®
U

c

ig) World Froo

nited Nations Development Program
l(b; world Health Organisation S
d

world Bank
jven below are two statements one is
128. labeHEd as Assertion (A) and other as

Reason (R) :
pssertion (A) : The government faces
atou_gh time tackling the bottleneck
inflation.
geason (R) : The situation is due to
geficiencies existing in the economy
such as supply bottleneck and inefficient
distribution.

gelect the correct answer from the codes
given below.

Codes :

(a) Both (A) and (R) are true and (R) is
correct explanation of (A)

(b) Both (A) and (R) are true, but (R) is
not correct explanation of (A)

(c) (A) is true, but (R) is false

[d (4) is false, but (R) is true

29 Which of the following is NOT correctly
matched ?

{a) Hundru Waterfall — Subarnarekha

River
(b) Chachai Waterfall - Bihad River
(c) Dhuandhar — Narmada
Waterfall River
(d) Budha Ghagh — Kanchi River

Waterfall

30, On the recommendation of which
Commission/Committee, the Inter-state
Council was set up in India ?

{a) Punchhi Commission
(b) Rajmannar Committee
(c) Kothari Committee

(d) Sarkaria Commission

B1. Who was the founder of the ‘Asiatic
Society of Bengal’ ?

- (@) Jonathan Duncan
~ (b) Sir William Jones
- {(C) Warren Hastings
B ~ [d) William Bentinck

-25-
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127, e wify gresr, 2020 FefafEd 7 foru

Heen ) wgr R T @ 7
va) forga @m 1
() g Ty fersrer <hreiRe
(c) fava e wad

(d) forza #fe

128, 9 & e e o 3, Bl & e FAfERMA (A)

aftt gt ) HOT (R) R AT E

SRR (A) TR R 3EEE gErhf A Fre
¥ R e T 1 AT FET 95412 |
U (R) : 78 R srferasen # afd sTg=
ot e Rer S STTE % B Al 8
9 Ry e ¥ TR IR T =TI HIOT |

Fe

(@) (A) 3R (R) A @ & a1 (R), (A)
e =TT HT 3

(b) (A) 3 (R) BT & &, g (R), (4)
T =T e w8

(©) (A) o 2, fFg (R) T B

(d) (A) T 2, g (R) F @

129. frefafiaa § & P-4 o gAfea A& 8 7

(a) gUSE 9UTd - gaR@r
(b) == YU - g
(c) YR U@ -  FHaT e
(d) EEEWE - Hisl A

130. fr=fafga 3 @ w- s /afafa 6 fhwia

qtmﬁamﬁw < T i ?
e I8 |

(b) TSHAR |

(c) I3 |

(d) TTHTRAT ST X

131. ‘tRmETfes AEA™A 6 I’ ST GEATIH

T ol ?

(@) SNATEH S
foy & faferm st
(c) TR T
(d) faferam €fdsw
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132. Consider the formation of following States

134.

135.

136.

and arrange these in
l. Goa

II. Telangana

I, Jharkhand

IV. Haryana

S_elcct the correct answer from the codes
given below,

chronological order :

Codes :
@ I, II, I, 1v (b) 1V, I, I, 11
(c) 111, 11, IV, 1 (d) 1v, I, 1, 1

en below are two Statements, one is

Giv
labelled as Assertion (A) and other as
Reason (R) :

impacts on the eénvironment,

Select the correct answer using the codes
given below,

Codes :

(@) Both (A) and (R) are true
correct explanation of (A)

(b) Both (A) and (R) are true, but
not correct explanation of (A)

(c) (A) is true, but (R) is false

(d) (A) is false, but (R) is true

Which of the following Islands is NOT

located in the Caribbean Sea ?

(a) Grenada (b) Montserrat

(c) Madeira (d) Anguilla

After cutting cucumber if salt is added,
then water comes out due to

(a) Active transport

(b) Passive transport

(c) Osmosis

(d) Diffusion

Which one of the following is NOT
correctly matched ?

(Name of Player) (Medal Won in
Tokyo Olympic
2020)
(@) P. V. Sindhu — Bronze Meda]
(b) Bajrang Punia - Silver Medal
(c) Mirabai Chany - Silver Meda]
(d) Neeraj Chopra - Gold Medal

and (R) is

(R) is

SMRN. ]

: (f@am%mwﬁﬂﬁﬁﬁm,
et mﬁmﬁ H Frafem $ifsa

I. ™ar

I1. a=

111, TGS

IvV. gfamon

Fi fw e 5z < were & HE I A v

?3:1, Lo, v WLy, I,

(I, I, IV, I (d) IV, I, | 7

e Qe fow e €, Forat & o 9 arfir,
! HRT (R) el 74T R ;

AftrRe (A): TR @3 3 fafyy -

133.

ITE 4 T g WAk ad §

FR (R) : e framatt & ammece o

B R |

ﬁmWW@F@WEHWWI

E)aiA)aﬂr(R)aﬁw%‘aﬁum, @)

(b) (4) 3 (R) It 74 &, g (R), (a) %
TR ST TEY et 2

(©) (A) 5 8, foheq (R) Trerqr 2
\id) (A)naa%,ﬁa(mw%

134, qﬁggr;@aﬁ%aﬁq-mmmmwﬁaqﬁ’

(a) MT=T (b) Hicdre
(c) wha (d) Trgen

135.@%ﬁmwﬁmmmé,?ﬁﬁw
@%a%mmﬁmé\?

@) Tk gy
(b) FfSr qiess
(c) IR
(d) TR
136.%1?%@:—141@%:@'%?
(ﬁsw:&anm) (SR e
2020 # fJifkm
‘ qqh)
(a) . =, fiy -  H9 YT
ﬂ(b;m‘{ﬁm - W Yew
c) R = - 9 9ew
(d) RS <y - Wi yes
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138.

139.

140.

141.

142.

In which State of India is the Harappan
Civilization site Mandi situated ? o
(a) Gwarat

_ (b) Haryana
(c) Rajasthan

(d) Uttar Pradesh

India climate change knowledge portal’
was launched in which of the following
months of 2020 ?

(a) November, 2020
(b) December, 2020
(c) September, 2020
(d) October, 2020

How many districts of Uttar Pradesh
has been covered under the Aspirational

District Programme run by NITI Aayog,
up to June, 2021 ?

(@) 4 (b) 6
(©) 8 (d) 10

Which of the following Articles of
the Indian Constitution is related to
Contingency Fund ? :

(a) Article 265 (b) Article 266

(c) Article 267 (d) Article 268

Which among the following organisations

released the World Population Report,

2021 ?

(a) International Monetary Fund

(b) United Nations Population Fund

(c) World Health Organisation

(d) United Nations Development
Programme

Match List — I with List — II and select

the correct answer using the codes given

below the lists.
List -1

List - II
(State of India)

(Highest Peak)

A. Tamil Nadu 1. Dhupgarh Peak

B. Rajasthan 2. Saramati Peak

C. Nagaland 3. Gurushikhar
Peak

D. Madhya Pradesh 4. Dodda Betta
Peak

Codes :

A B C D

(@ 3 2 1 4

b) 1 4 3 2

(c) 4 2 3 1

(d) 4 3 2 1

SMRN-1 - 21

137. BBUI W21 1 TS HULY, HAd & 6g 7= o

ferm ® ?
(a) TSI wb) &
() TSTEAT™ (d) I IS

138. ‘3fvs wemgie == Afaw qda’ w1 gEey
2020 ¥ Prefafaa § 4 fea afd f fen
T AT ?
(a) Faw=, 2020 |
(b) fem=w, 2020 ®
(c) T, 2020 #
(d) 3TFgER, 2020 H
139. fife st g =em <1 @ oTenieh frem FwRiwE

& 3r=ria IO e  FRa et =t s@, 2021
T Wik fepar T @ 7

(a) 4 (b) 6
(c) 8 Wi 10
@ frerRifaa & & s SR 1 -8 I7w8e
Ireh iRl A @ v=fea g ?
(a) TSV 265  Xb) A8 266
(c) 3TTVT 267 (] JITT 268

141, Prefafas § @ fre @meT g S¢S igeRE
T, 2021 S fFn T R 7

() I T3 I

(b) ST TUSE TGN HIY

(c) Torva ey weA

JA) FgF g fererma Hrisen

142, gt — 1 gt - 11 @ gafem Hifvre qen giemt

F R for v F2 A W IW F T AN |
e - 1 Tt - 11
(WA & ) (aa%si;%%ha)

A. afreTg B AL

B. TST&IH __ z.wm?ﬁj‘t‘%

c_:muég .

D. 9ed We™ qggﬂ?a\'a

e
A B C D

@ 3 2 1 4

L (b) 1 4 3 2

¢ &4 2 3 1

) 4 3 2 1
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143. A non-renewable source of energy is
(a) Solar energy  (b) Petroleum
(c) Wind energy  (d) Biogas

Which Indian Naval Ship participated in
Exercise Cutlass Express, 2021 ?

(a) INS Vikrant

(b) INS Magar

(c) INS Talwar

(d) INS Vikramaditya

144,

145. With reference to NTPC unit at Singrauli,

which of the following statement/s is/are
correct ?

1. It is situated in Northern part of
Chhattisgarh State.

2. It is NTPC’s oldest unit.

Select the correct answer using the codes
given below.

Codes :

(@) Only 1

(b) Only 2

(c) Both 1 and 2
(d) Neither 1 nor 2

146. Match List — I with List — II and select

the correct answer using the codes given
below the lists.

List -1 List - II
(Scheme) (Year of Launch)
A. Aam Aadmi 1. 2021
Bima Yojna
B. P.M. Aatmanirbhar 2. 2016
Swasthya Bharat Yojna
C. Pradhan Mantri 3. 2007
Jan Aarogya Yojna
D. Pradhan Mantri 4. 2018
Suraksha Bima Yojna
Codes :
A B C D
(@ 1 2 3 4
by 4 3 2 1
(c) 3 1 4 2 -
(d 2 4 1 .3
B -28-

SMRN-1 _,

sreftfiga it 1 A 2
(a) @ A Lpb) Fgiferm
(c) =g St (d)
e T, 2021 3T AR i,
144 R gt 3 T forn 41 7
(a) 3. T, 74, feshrd
(b) IS TH.TH. TR
(c) ITE.TA.TH. T
(d) 3w TE. e
145. @A .. e B :?sgm |
i 1 & RH-T1/8 o WA R/E 7
| TR SdgR TS F MG T A @ g |

0. 78 @A N5, il TR A THFE R |

143. T

+fR3 fag e e & T S A I |
EE&:

) Shae

(b) hae 2

(c) 1 3R 2=t

(d)aa19e2

146. et — 1 1 T — 11 & gafea i qur giee

& e fw 1T e @ Tt I w1 597 fiR |
o -1 ot - 11
(@) (ST )
A. W AH T AT 1. 2021
B. fl.wq. ik wey 2. 2016
WRA =T

C. WUHHt 57 3R As=1 - 3. 2007
D. U= gean fiar deEr 4. 2018

%e:
A B ¢ b

(@ 1 2 3 4

(b) 4 3 2 1

(c) 3 1 4 2
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147. The "Saras Ajecvika Mela - 9021’

organised in wl
(a) Patna

v was
1ch of the following city ?

(b) Raipur

(c) Lucknow (d) Noida

Arrange the followin
in chronological orde
India :

I. Willlam Hawkins
II. Ralph Fitch
[II. Sir Thomas Roe
IV. Nicholas Dawnton

Select the correct ans
given below.

Codes :

(@) II, I, IV and III
(b) IV, II, T and III
(c) I, III, IT and IV
(d) III, II, IV and 1

148. g foreign travelers

r of their arriva] in

wer using the codes

149. queign Minister of a country, Anthony
- Blinken had visited two days to India for

strengthening co-operation on July 27

and 28 in 2021. He belongs to which of

the following countries ?

(a) United Kingdom

(b) United States of America

(c) France

(d) Australia

With reference to ‘birth rate’ which of the

following statement(s) is/are correct ?

1. Urbanization helps in reducing the
birth rate.

2. High literacy rate is directly related
to low birth rate.

Select the correct answer using the codes

given below.

Codes :

(a) Only 1

150.

(b) Only 2

SMRN-1 - 21

147. g amfiferst fen - 2021 %1 smiem
Prerferfaa 1 & frm o it R e o <
(a) T (b) T

(c) TT@TH Wd) e

148, fr=fafaa feft it = 39% @ o ¥
THIHHATTAN =afea Hifvw

1. fafemm gife

II. U5 f5s

I, | 9"E QU

V. fiem sEe

F= e e % @ T I F T AW
He:

(@) 10, I, IV @@ 111

(b) IV, II, I @& III
T 1, 0, 11 |em IV

(d) IIL, II, IV @2 1

149. 27 W& 28 JEE, 2021 M TH 30 F g W
T fh X WIRE % |1 HEE Sy
F % T wra 1 Q feawim amn @ off | 57
e afrem s a aafRa g 7
(2) TS femrem
(b) TgF T ST
(c) T

(d) fegfera

150. SeU % wew # Frferiea et § & wR-w/¥
g 8/3 7
1. TR X hl T HA A HEEH § |
2., St TERaT T e STt | i

(c) Both 1 and 2 (d) Neither 1 nor 2

Y g |
A Ry ™ g2 ¥ I g |
E
(a) ¥ 1 (b) et 2
o) 1323 (@) TR 1Td2

-29.



